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21. a. Verify that A> = ] when A = [; —(l)]

b. Use partitioned matrices to show that M2 = I when
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In the beginning, ...

with integers there were *prime* factorizations...

75 = §7%3

then came the “polynomial* factorizations...

1 = (22 (e

until finally, ...

**matrix** factorizations appeared!
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0nly two more'days
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*three vectors

v

*the span of three vectors
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*the set containing only
the zero vector

£Shngsd

*all vectors in RA2 that
are either on the x-axis or
onthey-axis
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EXAMPLE 6 Find a basis for the null space of the matrix

-3 6 -1 1 -7
A= 1 -2 2 3 -1

2 g 5 g4









